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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ-nÌ VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ IÊS> Ho$ {ZX}emZwgma 
àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 10 × 2 = 20
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&

1)	 (i)	 What do you understand by culture?
		  g§ñH¥${V go Amn ³¶m g‘PVo h¢?
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	 (ii)	 Define community.

		  g‘wXm¶ H$mo n[a^m{fV H$a|&

	 (iii)	 Give two difference between society and community.

		  g‘mO Ed§ g‘wXm¶ ‘| Xmo AÝVa ~VmB¶o&

	 (iv)	 What is social group?

		  gm‘m{OH$ g‘yh ³¶m h¡?

	 (v)	 Give two characteristics of social system.

		  gm‘m{OH$ ì¶dñWm H$s Xmo {deofVmE± ~VmB¶o&

	 (vi)	 What is kinship?

		  ZmVoXmar ³¶m h¡&

	 (vii)	What do you understand by social problem?

		  gm‘m{OH$ g‘ñ¶m go Amn ³¶m g‘PVo h¢?

	 (viii)	Define joint family.

		  g§¶w³V n[adma H$mo n[a^m{fV H$s{OE&

	 (ix)	 What do you understand by social structure?

		  gm‘m{OH$ g§aMZm Ho$ ~mao ‘| Amn ³¶m OmZVo h¢?

	 (x)	 Explain the meaning of socialization.

		  g‘mOrH$aU H$m AW© ~VmBE&

	 Section - B	 4 × 10 = 40
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 10 marks.
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(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 10 A§H$m| H$m h¡&

2)	 "Society is a weld of social relationship" Explain it.

	 ""g‘mO gm‘m{OH$ g§~§Ym| H$m Omb h¡'' ì¶m»¶m H$s{OE&

3)	 Write briefly the main hindrance of social change in India.

	 ^maV ‘| gm‘m{OH$ n[adV©Z H$s à‘wI ~mYmAm| H$m CëboI H$s{O¶o&

4)	 Write in brief on recent changes in Hindu marriage.

	 {hÝXÿ {ddmh ‘| AmYw{ZH$ n[adV©Z na g§jon ‘| {b{I¶o&

5)	 Describe the characteristics of socialization.

	 g‘mOrH$aU H$s {deofVmAm| H$m CëboI H$s{OE&

6)	 Write a short note on female feticide.

	 H$Ý¶m ^«yU hË¶m na EH$ {Q>ßnUr {b{I¶o&

7)	 Discuss the dysfunctions of caste system for society.

	 g‘mO Ho$ {bE Om{V ì¶dñWm Ho$ XþîàH$m¶m] H$s {ddoMZm H$s{OE&

8)	 Discuss the sociological aspects of crime.

	 AnamY H$s gm‘m{OH$ ÑpîQ> go {ddoMZm H$s{OE&

9)	 Describe the importance of kinship system.

	 ZmVoXmar ì¶dñWm Ho$ ‘hËËdm| H$m dU©Z H$a|&
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	 Section - C	 2 × 20 = 40
(Long Answer Questions)

Note:	 Answer any two questions. Delimit your answer in 
maximum 500 words. Each question carries 20 marks.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& AnZo CÎma H$mo A{YH$V‘ 500 eãXm| 
‘| n[agr{‘V H$aZm h¡& àË¶oH$ àíZ 20 A§H$m| H$m h¡& 

10)	 How does unity exist among diversities in India?

	 ^maV ‘| {d{dYVm ‘| EH$Vm H¡$go ‘m¡OyX h¡? {ddoMZm H$s{OE&

11)	 Define unemployment. Discuss its types.

	 ~oamoOJmar H$mo n[a^m{fV H$s{OE& BgHo$ àH$mam| H$s {ddoMZm H$a|&

12)	 Define social control. Describe the means and institutions of 

social control.

	 gm‘m{OH$ {Z¶§ÌU H$mo n[a^m{fV H$s{OE& gm‘m{OH$ {Z¶§ÌU Ho$ gmYZ Ed§ 
g§ñWmAm| H$m dU©Z H$s{OE&

13)	 Write an essay on crime against women in India.

	 ^maV ‘| ‘{hbmAm| Ho$ {déÕ qhgm na EH$ boI {b{IE&


